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MAT 212, Quiz #7, Spring 2016 Name KE !

Instructions: Show all work. Answers without work re
credit. Some questions may contain multj
unless specifically asked to estimate.

quired to obtain the solution will not receive full
ple parts: be sure to answer all of them. Give exact answers

1. Find all the complex roots of:
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2. Determine ifthe‘set of solutions f; () = 2t — 3. bt = ¢ +i1,f3(t) =22 —t,£,(t) = t2 +
t + 1, are linearly independent. :
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3. Verify that x, x2, 7 are solutions to the ODE x3y""" 4 x2y'" —
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4. Solvethe VP y'" —y" +y' —y = 0,y(0) = 2,y'(0) = —1,y" (0) = —2.
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5. Solve the system { X1 — Xz —x3 =0 using Cramer’s Rule. (You can use your calculator to find
X1+ X3 + 3x; =12

the necessary determinants.)

R
A‘b"‘" (’ - __' -_.,_‘L
I
- ! L
A" 3 -l = 1 = ~42.
v 3
= & 5 ~—3 B =
A = |% 2 N ‘2
I v %
Z 3
A‘b - ! -~ © > —30
\ \ 2.
Xy = pals 5




